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One that does not bring signs of n17y1 the sale is not a valid sale

OVERVIEW

WX 27 taught that if not for the 105 of 21n XY™ (which alludes to N1732), we
may have assumed that an n°1%?°X cannot be sold as an 7°M2yn anX. Our
mooIn clarifies what this means, for seemingly when a girl is a 71vp (which
is when she can be sold as an 7nX), we do not as yet know whether she will
become an N>R or not.

nooIN asks:
— 9 2190 NYan XYY ¥1) TN MIVPI) 9NN ON)

And if you will say; but when she is a minor how can we know that she

will not bring ny w1 %1°0 -
— MAYY NNMAN KDY DXIVUY NI NINWI 1391 5INDIN 1107

For the signs of an n179°X are that when she is twenty years old and did

not grow pubic hairs -
— (3,997 mm) IIYN P9 NSINTI

as it is brought in w7 P95, How can we say that if a man sells his daughter while
she is a mvp that there is no sale if she is an NX19°X; how can we know now, when she is
still a 73vp, that she will become an n°1Y?°k later when she turns twenty?

mdoIN anticipates a possible solution and rejects it:
— VP V99N IYARY NINIIN 1900 YWY 23 JY ON)

And even though there are certain signs of an n X that are
recognizable (even) when she is a up -

— DY YN 99I90W PN DAY NPT 11250 1D
For instance, the sign that her voice is thick or that she has no “»>w

o°v» like other women. Perhaps we can say if a m1vp exhibits these signs one cannot
sell her for an 7°72¥77 7R, However, m901n rejects this solution -
— 31319983 177 NI RN 1915 12 XOY 19 20990 %33 (ow) 1PN N

For the X773 states there concerning a 999, that he is not considered a 5170
until he has all the signs of a 70, and presumably the same rule applies

by an nv17998. When the girl is a 7aup she cannot have all the 2°32°0 of an n°11?°X, since
one of the o°1n°0 is that she did not grow mvw by the age of twenty. The question

" See *"w1 in *M9°w 7"7 2,5 N2 that by women the lower abdomen curves (slightly) outward.
* A 00 is a eunuch; the male counterpart of an NN?°X.
? See “Thinking it over’.
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remains, what is meant that we cannot sell an N°1Y?°X as an 7727 7R, if we do not as yet
know that she is an n°117°X.

mooIn replies:
— N32% 13531 91 RY “9IND 9907 19y W

And one can say; that (indeed) this is what the X7 means; that the sale

is not a valid sale if later it is determined that she is an N7 -
1Ty ON s"n”” 127 N2 T2V PPN O G021 N ARNI NIVYIN 99y PIND TP

And the master must return all her work to the father and the father is
required to return the money to the master, and also® even if the master

was 7¥» 2 her the rules of 72 do not apply and she is not considered married to
the master.

SUMMARY

The X" according to *wX 27 was that if an 7°72y7 72X was subsequently
determined to be an N°117°X, the entire sale is invalidated retroactively; even
the Ty is disqualified.

THINKING IT OVER

moon asserts that just as by a 070 all the 0°11°0 are required before he is
deemed a 90 the same applies to n'17>°k.” However, concerning a 90 there
is a nPY7nn there in NN’ 'on between X117 27 who maintains all 90 °11°0 are
required and 73 " who maintains even one 72°0 is sufficient, so perhaps 27
WX agrees with 131> ' and is discussing a case where one of the n°>1179°R 11°0
was apparent.”

* 5w 27 did not state that it one is not permitted to sell an N>n2°X (for indeed we do not as of yet know that
she is an N°12°X while she is a 731vP), but rather that the sale of an n°>1%%°R will be invalidated later when we
determine that she is indeed an n>1%°x.

> The process of T* is where the 777% informs the ;X that he is betrothing her [with the money he paid her
father for her purchase]. Since the entire sale is invalidated, there was never any legal transfer between the
1178 and the 2X; therefore there is nothing on which the 7w >w17>p can be on.

% Mmoo may not be satisfied with the first explanation, for in reality it may not be that significant if the sale
is considered valid or not. We can assume that the money the father received for his daughter will be equal
to the value of the work which the daughter produced (for this is the usual case monies are paid for value
received). Therefore 501N mentions the second explanation where there is a significant difference whether
the sale is valid (and she is an w°X nwX) or not (where she still is a 71"119). However the second explanation is
only valid when there was 713, therefore maoin offers the first explanations which is valid in all cases.

7 See footnote # 3.

¥ See 1"nx footnote # 139.
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